AEAF (Mode)
57. fr= deard us wen & 12 faenfeln & ww (fFer) &1 =5aa FT )
F1 F o0 FgeTF YR 1A FHifong:—

The followiny figures represent the weights 1n kgs, of 12 students of a class. Find
modal weight of the class (—

Jssuwss:srsns: 51.48, 43, 45 -

125; IS0 1175, 2000 2225+ 1.250
No. of Persons : 3 8 21 6 4 2

U § T § {6 a9 aEfa 21 €1 sm: mﬁmﬁwmns

M AU Z = 175 |

' "ﬁiﬂmmrﬁagaa:-ﬂmﬁufﬁaaﬂﬁrq:— |

Iculate the Modal size in the fﬂllm:.'ing series :—

BRRPIRENE 4R S 6 7 8019 10 11 aRusid
R e 3 I sl25, U6- 14 10, 8 1.5 4

u
il =
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F14 wgfa & w9 T wifewEg o | 23

Solution :

frie @ wa8 a8l sigfa 17 8, amsmﬁmﬂmﬁiﬁaﬁmﬁ?
&9 1§ 9121 € | 3a: TeA fafu (Grouping Method) g1 aga® & fuimm &7
i forgd TR 4, 5, 6. 7. 8 30T 10 W Tallies F: 1,3, 5. 3, | 3 | S0AT
3T Mode = 6 BT |

60. = JeHen H aEeE & WA F9 SifE—

Find out the value of mode in the following seriesi—

Marks ol e, Y s 6 T o8 9 10
Frequency | 5 4 7 i 16 15 14 6 7 R
Solution :
Grouping _
Size f(1) (2 (3) (4) (5) (6) Tallies
0
| } 6 1 10} 1
2 4 } 9 ' 16
g i
} |7 \ 33 . | I
4 10 } 26 mo 4
) 41
5 16 Mm-S
3 j 45
6 15 } }15 T
14 :
"' } 20 o TS
8 6 } 13 ]
9 } rzl
10

qsﬂﬁaﬁﬁ?ﬁs(miﬁﬂ?)tm: Mode = 6
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68. Frefefaa arwi 8 Tgas Jd Sy —
Find oul Mode from the following data :—

Income (Rs.) . 0—4 4—8 8—I12 12—16 16—20 20—24
No. of Persons . 6 |4 16 I8 4 O
Solution :
e fafu 3 s-mﬂmawaﬁﬁm
B h—Jfo . 16 - 14
Z=L+ zn S = 8 T g
= B+0:¢4 = X
uﬁwmtmmwmntuaaaﬁﬁmﬁqamnﬁmaﬂmfmp_
i} 18
Z =L _z'—' ==
W LA ATRT Yo
3 I8
= +32:::4 =H+2*35=10‘25

2428
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61. ﬁtﬂﬁﬁaaavﬂwagammaﬂﬁq—

Fmd oul Mo : ol the
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& 1 Fod— : .. 1

ving series :— 3 b 4 - T
10—15 15—=20 20—25 25—30 3035
10 4 10 9 2
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65. T &1 TF TA&T F F23 A 90 wlenfadi F azes wraE 7@

Find out Modal marks of 90 candidates appeared in an examination of
Mathematics :—

— ——

Marks f Marks f
0—10 2 50—60 8
10—20 7 60-—70 2
30 15 70—30
wo.la .u_ 0 16 80—90 2
4050 7| s 1

| | —

__d
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